Starting Six

/ Simplify:
1

100 2

~

Y4

Complete the sum:

2 4
4?- 27
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hYS

Find the value of

3{/4 X 2 X 10°
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_ N ACCESS MATHS
/ Simplify the ratio: V27 : V75 \

\_

Prove that 0.18 + 0.4 = — \
22

/ Rationalise the denominator: \

6
7 +/3

\_ /




Starting Six

/ Simplify:
1

100 2

~

Y4

Complete the sum:

2 4
4?- 27

AN

hYS

Find the value of

3{/4 X 2 X 10°

\_

AN

/

Score /6 www.accessmaths.co.uk @WA

_ N ACCESS MATHS
/ Simplify the ratio: V27 : V75 \

\_

Prove that 0.18 + 0.4 = — \
22

/ Rationalise the denominator: \

6
7 +/3

\_ /




